Kurz-Test Mathematik Scholl 07.11.2013

7 Minuten Name:

1.  Lose mit der p/g-Formel: x2 + 8x — 20 = 0

2.  Lose mit der p/g-Formel: 3x? + 3,6x = 1,35

Note| 6 5- 5 5+ | 4- 4 4+ | 3- 3 3+ | 2- 2 2+ | 1- 1 1+

Punkte| O 2 3 4 5 6 7 7 8 8 9 9 10 | 10 | 11 | 11




Kurz-Test Mathematik Scholl 07.11.2013

7 Minuten Name:

1. Lose mit der p/g-Formel: x2 + 6x — 16 = 0

2. Lose mit der p/g-Formel: 2x2 + 2,4x = 0,9

Note| 6 5- 5 5+ | 4- 4 4+ | 3- 3 3+ | 2- 2 2+ | 1- 1 1+

Punkte| O 2 3 4 5 6 7 7 8 8 9 9 10 | 10 | 11 | 11




